

$$y = 3x - 1 \Rightarrow y = \frac{3}{2}x - \frac{1}{2} \Rightarrow f(x) = \frac{3}{2}x - \frac{1}{2}$$

$$\Rightarrow f^{-1}(x) = \frac{2x+1}{3} \Rightarrow S_{ABC} = \frac{1}{3} \times \frac{1}{2} \times \frac{1}{2} = \frac{1}{12}$$

$$\frac{2x+1}{3} = 0 \Rightarrow x = -\frac{1}{2}$$

الف) $x^2 - 2x + 3 \Rightarrow D_f = [1, +\infty)$

$$\Rightarrow (x-1)^2 + 2$$

$$\Rightarrow y = (x-1)^2 + 2 \Rightarrow y-2+1 = x$$

$$\Rightarrow f^{-1}(x) = \sqrt{x-2} + 1 \Rightarrow D_{f^{-1}} = R_f = [2, +\infty)$$

ب) $x^2 - 2x + 3 \quad x \in [3, +\infty)$

$$\Rightarrow (x-1)^2 + 2$$

$$\Rightarrow f^{-1}(x) = \sqrt{x-2} + 1$$

$$\Rightarrow D_{f^{-1}} = R_f = [6, +\infty)$$

$$R_{f^{-1}} = D_f = [3, +\infty)$$

$$f(x) = 2x - \sqrt{14 - 4x(x-2)} \Rightarrow 2x - \sqrt{4x^2 - 14x + 14} = 2x - 2|x-2|$$

$$2x - 2|x-2| \begin{cases} 2x - 2x + 4 & x > 2 \\ 2x + 2x - 4 & x < 2 \end{cases} \Rightarrow f(x) = \begin{cases} 4 & x > 2 \\ 4x - 4 & x < 2 \end{cases}$$

$$R_{f^{-1}} = D_f = (-\infty, 2)$$

$$D_{f^{-1}} = R_f = (-\infty, 4]$$

$$S_{ABC} = \frac{4 \times 1}{2} = 2$$

$$y = \frac{x}{\sqrt{x^2 - a}} \Rightarrow \frac{x_1}{\sqrt{x_1^2 - a}} = \frac{x_2}{\sqrt{x_2^2 - a}} \Rightarrow \frac{x_1^2}{x_1^2 - a} = \frac{x_2^2}{x_2^2 - a} \Rightarrow x_1^2 x_2^2 - a x_1^2 = x_1^2 x_2^2 - a x_2^2 \Rightarrow a x_1^2 = a x_2^2 \Rightarrow x_1^2 = x_2^2 \Rightarrow x_1 = \pm x_2$$

اگر $x_1 = x_2$ آنگاه $x_1 = x_2 = \pm \sqrt{a}$ و اگر $x_1 = -x_2$ آنگاه $x_1 = -x_2 = \pm \sqrt{a}$ و جواب نهایی $x_1 = \pm x_2$ است.

$$x = \frac{y}{\sqrt{y^2 - a}} \Rightarrow x^2 = \frac{y^2}{y^2 - a} \Rightarrow y^2 = \frac{a x^2}{x^2 - 1} \Rightarrow y = \sqrt{\frac{a x^2}{x^2 - 1}}$$

گ) $\begin{cases} x^2 - 4x + k & x > 2 \\ x^2 - 4x + 3k & x < 2 \end{cases} \Rightarrow f(2) = 4 - 1 + k = k - 1 \Rightarrow 3k + 1 \leq k - 1$

$f(2) = -4 + 1 + 3k = 3k - 3 \Rightarrow 2k - 1 \leq k - 1 \Rightarrow k \leq 0$

$$f(x) = rx + |x| \Rightarrow \begin{cases} rx + x & x \geq 0 \\ rx - x & x < 0 \end{cases} \Rightarrow rx = y \Rightarrow f(x) = \begin{cases} \frac{y}{r} & y \geq 0 \\ \frac{y}{r} & y < 0 \end{cases}$$

$$\Rightarrow g(x) = ax + b|x| = \begin{cases} \frac{rx}{\lambda} & x \geq 0 \\ \frac{rx}{\lambda} & x < 0 \end{cases} \Rightarrow \begin{cases} \frac{rx}{\lambda} - \frac{x}{\lambda} \\ \frac{rx}{\lambda} + \frac{x}{\lambda} \end{cases} \Rightarrow \frac{r}{\lambda}(x) - \frac{1}{\lambda}|x|$$

$$\Rightarrow a = \frac{r}{\lambda}, b = -\frac{1}{\lambda} \Rightarrow ab = -\frac{r}{\lambda^2}$$

$$f(x) = \frac{rx + r}{x + r} \Rightarrow \left| \frac{r}{-10} \right| \Rightarrow \frac{r + r}{r + m} = -10 \Rightarrow m = -r \Rightarrow f(x) = \frac{rx + r}{x - r}$$

$$\Rightarrow f^{-1}(x) = \frac{rx + r}{x - r} \Rightarrow f(x) = f^{-1}(x) \Rightarrow f \circ f^{-1}(x) = x$$

$$x + \frac{rx + r}{x - r} = x \Rightarrow \frac{rx + r}{x - r} = 0 \Rightarrow rx + r = 0 \Rightarrow x = -\frac{r}{r}$$

$$f(r - rx) = r - g\left(\frac{r}{r}\right)$$

$$f^{-1}(-r) + r g^{-1}\left(\frac{r}{r}\right) \Rightarrow f(r - rx) = -r \Rightarrow r - g\left(\frac{r}{r}\right) = -r \Rightarrow g\left(\frac{r}{r}\right) = r$$

$$\Rightarrow g^{-1}\left(\frac{r}{r}\right) = \frac{r}{r} \Rightarrow f^{-1}(-r) = r - rx$$

$$\Rightarrow r - rx + rx = r$$

$$y = \frac{\omega x - 1r}{1 - x} \Rightarrow y = -\frac{-\omega x - 1r}{1 + x} \Rightarrow y = \frac{\omega x + 1r}{1 + x} \Rightarrow \frac{\omega(x - r) + 1r}{x - r + 1} = r$$

$$\Rightarrow \frac{\omega x + r}{x - 1} - r \Rightarrow \frac{\omega x + r - rx + r}{x - 1} = \frac{rx + r}{x - 1} \Rightarrow f(x) = \frac{rx + r}{x - 1} \Rightarrow f^{-1}(x) = \frac{x + r}{x - r}$$

$$\Rightarrow \frac{x + r}{x - r} = \frac{rx + r}{x - 1} \Rightarrow x^2 + 4x - x - 4 = rx^2 + 4x - rx - 1r \Rightarrow x^2 - rx - 4 = 0 \Rightarrow x = r$$

$$f(x) = x + r[x] \quad g(x) = f^{-1}(x) \Rightarrow x = [y] + y \Rightarrow [x] = \omega[y] \Rightarrow [y] = \frac{[x]}{\omega}$$

$$f - g(x) \Rightarrow f - f^{-1}(x) \Rightarrow y = x - r[x] \Rightarrow y = x - r[x]$$

$$\Rightarrow x + r[x] - x - \frac{r[x]}{\omega} = \frac{r[x]}{\omega}$$